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1
Introduction
Majority of the RRM Test Cases verdict is decided based on statistics of multiple runs, and these test cases run for 33 iterations. There has been an effort in RAN5 to keep the Cell ID different for a cell for every iteration, lets say on which the measurement procedure needs to be performed. But with current test procedure this fails to generate new Cell ID, every iteration, for upto 33 iterations. This proposal will discuss a simple change to take care of this.
 2
Current Method
Many test cases in current RRM Spec TS 38.533 have this step in Test Procedure:
Set Cell 3 physical cell identity = [((current cell 3 physical cell identity + 1) mod 14 + 2)] for next iteration of the test procedure loop.

The above methodology makes the Phy Cell ID repeat after every 14 iterations and thus does not cater to bringing up a new Cell ID for all 33 iterations of the test case. If we evaluate the above Step, starting with random Cell ID 12, it can be seen the cycle repeats every 14 iterations.
	Cell 3 ID
	[((current cell 3 physical cell identity + 1) mod 14 + 2)]

	12
	15

	15
	4

	4
	7

	7
	10

	10
	13

	13
	2

	2
	5

	5
	8

	8
	11

	11
	14

	14
	3

	3
	6

	6
	9

	9
	12

	12
	15

	15
	4

	4
	7

	7
	10

	10
	13

	13
	2

	2
	5

	5
	8

	8
	11

	11
	14

	14
	3

	3
	6

	6
	9

	9
	12

	12
	15

	15
	4

	4
	7


Observation 1: Current methodology fails to bring up a new Cell ID every iteration, for 33 iterations by repeating every 15th iteration.
3
New Methodology
We will do a simple change by replacing 14 by 99, in the above test step, to make the test step read like:

Set Cell 3 physical cell identity = [((current cell 3 physical cell identity + 1) mod 99 + 2)] for next iteration of the test procedure loop.

The evaluation looks like below where the Cell ID doesn’t repeat for 90 iterations:
	Cell 3 ID
	[((current cell 3 physical cell identity + 1) mod 99 + 2)]

	1023
	36

	36
	39

	39
	42

	42
	45

	45
	48

	48
	51

	51
	54

	54
	57

	57
	60

	60
	63

	63
	66

	66
	69

	69
	72

	72
	75

	75
	78

	78
	81

	81
	84

	84
	87

	87
	90

	90
	93

	93
	96

	96
	99

	99
	3

	3
	6

	6
	9

	9
	12

	12
	15

	15
	18

	18
	21

	21
	24

	24
	27


Proposal 1: Set the new equation for bringing up Cell ID as New Cell ID = [((Current cell physical cell identity + 1) mod 99 + 2)], so that the Test Procedure Step would be:
Set Cell 3 physical cell identity = [((current cell 3 physical cell identity + 1) mod 99 + 2)] for next iteration of the test procedure loop.

4
Conclusions

The following proposals were made in this contribution.

Proposal 1: Set the new equation for bringing up Cell ID as New Cell ID = [((Current cell physical cell identity + 1) mod 99 + 2)], so that the Test Procedure Step would be:

Set Cell 3 physical cell identity = [((current cell 3 physical cell identity + 1) mod 99 + 2)] for next iteration of the test procedure loop.
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